	Třída
	K 5.10.
	K 5.11.
	K 5.12.
	K 5.1.
	K 5.2.
	K 5.3.
	K 5.4.
	K 5.5.
	K 5.6.celkem
	Pořadí 

	1.a
	0
	115,0
	115,0
	171,0
	331,5
	471,5
	498,5
	498,5
	   549,5
	

	1.b
	17,5
	17,5
	17,5
	17,5
	17,5
	17,5
	17,5
	201,5
	   223,5
	

	1.c
	47,2
	47,2
	101,1
	108,6
	153,6
	153,6
	233,6
	298,6
	   389,0
	

	2.a
	0
	0
	0
	140,0
	140,0
	140,0
	140,0
	140,0
	   140,0
	

	2.b
	47,0
	47,0
	47,0
	129,0
	129,0
	279,0
	359,0
	589,0
	   614,0
	

	2.c
	26,3
	26,3
	41,3
	41,3
	41,3
	41,3
	41,3
	41,3
	     41,3
	

	3.a
	0
	0
	0
	0
	0
	95,0
	140,0
	174,5
	   208,5
	

	3.b
	320,3
	320,3
	320,3
	320,3
	836,3
	836,3
	836,3
	836,3
	   855,9
	4.

	3.c
	45,0
	45,0
	45,0
	45,0
	45,0
	45,0
	45,0
	283,3
	   283,3
	

	4.a
	0
	0
	0
	0
	0
	0
	0
	0
	   540,5
	

	4.b
	510,0
	0
	0
	574,4
	774,4
	774,4
	774,4
	856,4
	1 161,2
	2.

	4.c
	380,0
	380,0
	380,0
	380,0
	380,0
	594,0
	743,0
	743,0
	   743,0
	

	5.a
	0
	0
	0
	198,2
	198,2
	278,2
	278,2
	366,2
	   539,8
	

	5.b
	62,8
	99,8
	99,8
	259,3
	259,3
	273,3
	273,3
	273,3
	   385,3
	

	5.c
	0
	600,0
	600,0
	600,0
	820,0
	820,0
	820,0
	820,0
	   820,0
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	6.a
	178,0
	194,0
	194,0
	211,0
	211,0
	211,0
	467,0
	467,0
	   489,5
	

	6.b
	0
	0
	0
	0
	0
	0
	50,0
	50,0
	   287,2
	

	6.c
	6,5
	527,5
	527,5
	534,0
	734,0
	734,0
	734,0
	734,0
	   771,0
	

	7.a
	0
	0
	0
	0
	0
	0
	0
	0
	   202,0
	

	7.b
	50,0
	50,0
	50,0
	50,0
	50,0
	115,0
	115,0
	115,0
	   115,0
	

	7.c
	0
	0
	0
	0
	0
	0
	0
	0
	1 249,0
	1.

	8.a
	0
	0
	0
	0
	0
	60,0
	60,0
	60,0
	     60,0
	

	8.b
	0
	0
	0
	23,0
	23,0
	84,5
	181,5
	181,5
	   201,5
	

	8.c
	113,0
	113,0
	113,0
	113,0
	113,0
	113,0
	113,0
	113,0
	   304,6
	

	9.a
	144,0
	144,0
	144,0
	144,0
	420,0
	420,0
	710,0
	710,0
	1 020,0
	3.

	9.b
	0
	0
	0
	0
	0
	0
	0
	0
	        0
	

	9.c
	7,0
	7,0
	7,0
	7,0
	7,0
	7,0
	7,0
	7,0
	   381,0
	



